1. What would you use for immediate,
real- time communication with a friend ?
(A) E-mail
(B) Internet Relay Chat (IRC)

(C) Usenet
(D) Mailing list

2. The code name of the operation launched by
United States of America to attack on Al-Qaeda
and Taliban regime in Afghanistan
(A) Operation Blue Star
(B) Operation Enduring Freedom
(C) Operation Neptune spear
(D) Operation All clear

Directions Q. No. 3-5: Study the following
information carefully to answer the
questions.

Eight friends P, M, R, T, Q, U, V and W are sitting
in two opposite rows, facing each other. Each row
has 4 persons. P is between U and V and is facing
North. W is opposite to Q who is to the immediate
left of M. R is between T and M. W is to immediate
right of V.,

3. Who is to the immediate right of R ?
(A) M (B) U
(C) P (D) None of these

4. Which of the following pairs has the person
sitting opposite each other ?
(A) MV
(B) RV
(C) TV
(D) UR

5. Four of the following five are alike in a
certain way on the basis of their positions
and so form a group. Which is the one that
does not belong to the group ?

(A) TP
(B) RV
(C) QP
D) Qv

6. In India, disguised unemployment can be
seen more in
(A) Agricultural sector
(B) Industrial sector
(C) Service sector
(D) Educational sector
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4, ﬁﬂﬁiﬁiﬂﬁﬁaﬂq-ﬂmﬁ@—‘q@‘t%ﬁqﬂa%ﬁ
=fF g ?
(A) MV
(B) RV
(C) TV
(D) UR
5. fm=fafaa ofw § & = 39t fefe &
YR T TF THFR & TE 2 3 uF a8
e | T AP-TIa aE A T e R ?
(A) TP
(B) RV
(C) QP
(D) QV
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(C) Fan &
(D) T &
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The H.CF and L.CM mials
; M. of two po} i

are (x + y) and (3x5 + Sxy + 2)]:503{1-03:@3;“

= Sxy* - 2y9) respectively. If one

: . of the
polynomials is (X2 - y3), the other one is

(A) 3x* - 8x3y — 10x%y2 + 7xy3
-2

(B) 3x* - 8x% + 10x%y2 + 72@ - 23;"
(C) 3x* + 8x% + 10x%y2 + 7xy3 + 2y*

(D) 3x* + 8x%y - 10x%y2 + 7xy® + 2y*

is a new digital Paymentapplication
launcht?d by the Department of Posts and
the India Post Payments Bank (IPPB).

(A) DakPay (B) PostPay
(C) JustPay (D) BHIM
Find the missing letters.
—--aba__ba_ab

(A) abbab (B) baabb
(C) abbaa (D) bbaba
According to a recent study,

warming ocean waters have led to
a drop in Earth's brightness. The
study was published in which of
the following ?

(A) Nature Geoscience

(B) Geophysical Research Letters
(C) Climate Dynamics

(D) Environmental Science

The Reserve Bank of India was set up on the
basis of the recommendations of which of
the following Commission ?

(A) The Hilton Young Commission
(B) The Hartog Commission

(C) The Sadler Commission

(D) None of the above

Haryana State stands at position ip
the average annual fish production per unit
area in India.
(A} lsl
(C) 3

SCSI stands for

(A) Small Coding System Intcrfacr:a

(B) Small Coding System Interaction
(C) Small Computer System Interface
(D) Small Computer System Interaction

— receives request from the
clients, processes this request, and sends
the result back to the client.

(A) Web browser (B) ch pages

(C) Web server (D) Web sites

(B) 4%
(D] 2nd
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13.

14,
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(C) 3x* + 8x%y + 10x%y? + Txy3 + 2y*

(D) 3x* + 8x%y - 10x%? + 7xy3 + 2y*
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1

Download from WWW.MSEduc%anTuﬁemaa'




15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

The pre-monsoon shower in Kerala

is called as
(A) Mango shower
(C) Kalbaisakhi

The Banking Regulation Act was enacted in
which year ?

(B) Blossom shower
(D) Loo

(A) 1947 (B) 1948

(C) 1949 (D) 1950

Packing efficiency in simple cubic lattice is
(A) 68% (B) 52.4%

(C) 54.2% (D) 64%

When offspringis produced by a single parent
with or without the involvement of gamete
formation, the reproduction is called

(B) Sexual

(D) Transexual

(A) Asexual
(C) Parasexual

Who is the Current Secretary General of
United Nations ?

(A) Anténio Guterres
(C) Kofi Annan

30% of Canadian families have a dog, 30%
of Canadian families have a cat, and 50% of
Canadian families have neither a dog nor a
cat. What percent of Canadian families have

(B) Ban Ki Moon
(D) None of the above

both a cat and a dog ? EREE
(A) 10 (B) 20 b
(C) 30 (D) 50

There are 10 points in a plane, out of there 6
are collinear. The number of triangles formed
by joining these points is

(A) 100

(B) 120

(C) 150

(D) None of these

Which of the following is produced from
fermentable sugar by yeast and bacterium ?
(A) Cellulose (B) Lactose

(C) Starch (D) Ethanol

are types of browsers.
(A) Graphical Browsers
(B) Text Browsers
(C) Both (A) and (B)
(D) None of the above
Aruna ranks twelfth in a class of forty-six.
What will be her rank from the last ?
(A) 33 (B) 34
(C) 35 (D) 37
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25. One day John left home and cycled
10 km southwards, turned right and cycled
S km and turned right and cycled 10 km and

turned left and cycled 10 km. H
i . oW man
kms will he have to cycle to reach his homﬁ

straight ?
(A) 10 km (B) 25 km
(C) 20 km (D) 15 km

26. Consider the following statements about
SVAMITVA Scheme.

I. SVAMITVA is a Central Sector Scheme
of the Ministry of Panchayati Raj that
aims to provide property rights to the
residents of rural inhabited areas.

II. It aims to demarcate inhabited lands in
rural areas through the latest surveying
drone technology.

(A) Only the statement I is correct

(B) Only the statement II is correct

(C) Both the statements I and II are correct
(D) None of the above

27. A is a small hand held pointing
device with a rubber ball embedded at its
lower side and buttons on the top.

(A) Mouse (B) Lightpen
(C) Trackpad (D) Joystick

28. Which one of the following statement is not
true about Coriolis force ?

(A) The Coriolis force is directly

proportional to the angle of latitude
(B) The Coriolis force acts parallel to the
pressure gradient force

E4C) At the equator, the Coriolis force is zero

%3D) It is maximum at the poles

29. Computer A takes 3 minutes to process
an input while computer B takes
5 minutes. If computers A, B and C can
process an average of 14 inputs in one hour,
how many minutes does Computer C alone
take to process one input ?

(A) 10 (B) 4
(C) 6 (D) 8
30. For aquatic organisms of water
becomes more important.
(A) Quantity (B) Quality
(C) Turbidity (D) Colour
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A sum of Rs. 41 was divided among
50 boys and girls. Each boy gets 90
paise and a girl 65 paise. The number of

boys is
) 16 (B) 34
(C) 14 (D) 36

National Human Rights Commission
established in the year

(A) 2005 (B) 1993

(C) 1996 (D) None of the above
Manoj and Sachin are ranked seventh and
eleventh respectively from the top in a class
of 31 students. What will be their respective

ranks from the bottom in the class ?
(A) 20™ and 24t (B) 24" and 20"
(C) 26" and 29nd (D) 25" and 21*

Suppose, in December 2019, the consumer
price index was 193.6 and in December
2020, it was 223.8, then what was the
inflation rate during the last one year ?

(A) 14.55

(B) 15.6

(C) 16.6

(D) 17.6

BIOS stands for

(A) Bus Input Output System
(B) Bus Input Output Stream
(C) Basic Input Output System
(D) Basic Input Output Stream

International Centre for Automotive
Technology has developed a technology
innovation platform called

(A) Knowledge Integration for Technology
Enrichment (KITE)
(B) SPARROW

(C) Automotive Solutions Portal for
Industry Research and Education

(ASPIRE)
(D) None of these

In a certain code “HATCH” is written as
‘5#325’ and “TRAP” is written as ‘38#%".
How is “PATCH?” written in that code ?

(A) %5#23 (B) %5#33
(C) #5%32 (D) %#325
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The term Sjaciology was first coineq
by In an unpublished manuy
(A) Emmanuel-Joseph Sieygg

(B) Robert Morrison Maclver

(C) Herbert Spencer

(D) George Simmel

in 1780
script,

India signed MoUs to develop Trincomalee

port with

(A) UK (B) Sri Lank
a

(C) Myanmar (D) Maldives

A and B are brothers. C and p are sisters
A’s son is D’s brother. How is B related to C "’
(A) Father (B) Brother

(C) Grandfather (D) Uncle

Which one of the following types of agriculture
was introduced by European colonies ?

(A) Kolkoz (B) Mixed farming
(C) Viticulture (D) Plantation
Which work is considered as the “First
Encyclopaedia in Sanskrit” ?

(A) Kavyavaloka

(B) Manasollasa

! % (C) Bhasha Bhushana

(D) Abhidhanavastukosha

It is a micro-level theory that focuses on the
relationships among individuals within a
society. -

(A) Social exchange theory
(B) Differential association theory

(C) Control theory

(D) Symbolic interactionism

Which number will come in the place of
question mark ?

8 12,21, 37, 62,7

(A) 97 (B) 98

(C) 108 (D) 124

Total number of medals grabbed by India in
Tokyo Paralympics 2020-21 are

(A) 21 (B) 20

(C) 19 (D) 18

After independence, India envisaged an
economic system which combines the best

features of .

(A) Socialism and Capitalism

(B) Capitalism and Communism
(C) Socialism and Communism
(D) None of the above
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als, when any planc passing through
= axis of the body divides the
identical halves, it is called

In anir
the central
prganism into two
(A) Radial symmetry

(B) Bilateral symmetry

(C) Latcral symmelry

(D) Trigonal symmetry

processcs inpul and converts it

into meaningful informaltion.
(A) Arithmetic Logic Unit (ALU)

(B) Memory ‘
(C) Central Processing Unit (CPU)

(D) Keyboard

The famous theory related Lo origin of Universe,
the Big Bang Theory' is associated with

(A) Edwin Hubble

(B) Immanucl Kant

(C) Carl Weizascar

(D) Laplace

If we make a meaningful word with the
I, 4% 9h and 14" letters of the word
‘ADMINISTRATION' which of the following
will be the 3% letter of that word frdm the
right end of that word ?

(A) R (B) 1

(C) N (D) A

Some of the most fundamental features that
an E-mail client provides are

(A) Offline mode of operation

(B) Filtering E-mails

(C) Managing Received E-mails

(D) All the above

The common Indian earthworms are

(A) Pheretima (B) Lumbricus
(C) Both (A) and (B) (D) None of these

The onset of turbulence in a liquid is
determined by

(A) Pascal’s law

(B) Torricelli’s law

(C) Bernoulli’s principle
(D) Reynold’s number

is an interface on a computer,
which supports transmission of multiple
bits of data at the same time.
(A) Serial port
(B) Parallel port
(C) SCSI port
™ N§/2 port -
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numbers is 38, il two
numbers namely 45 and 55 are discarded,
the average of the remaining numbers is

(A) 36 (B) 35

() 32.5 (B} %5

P, Q, R, S and T arc sitting in a row, Q is
between P and T. To find out who among
them is in the middle, which of the following
information given in the statements | and I
is/are sufficient ?

I. Pis left of Q and right of S.

II. Ris at the right end.
(A) Only Il is sufficient
(B) Only I is sufficient
(C) Both I and Il together are needed
(D) None of the above

The average of S0

The Sociologist who coined the term culture
lag

(A) Talcot Parsons
(C) Bruno Latour

(B) Gunnar Mrydal
(D) William F. Ogburn
Four different positions of the same dice are
shown, select the letter that will be on the
face opposite to the one showing X,

X B X X

vy (@ |z Y ald]|c|Y
(A) Y (B) B
€ A (D) C

Sunita leaves her house at 20 mins to seven
in the moming, reaches Vineeta’s house in 25
minutes, they finish their breakfast in another
15 mins and leave for their office which takes
another 35 mins. At what time do they leave
Vineeta’s house to reach their office ?
(A) 7:40 AM (B) 7:45 AM
(C) 7:20 AM (D) 8:15 AM

The population of a town is 126800.
It increases by 15% in the 1* year
and decreases by 20% in the 2
year. What is the population of the
town at the end of 2 years ?

(A) 174984 (B) 135996
(C) 145820 (D) 116656

A cube is coloured black on all faces. It is
cut into 64 smaller cubes of equal sizes.
How many cubes are not coloured on any of
its faces ?
(A) 3
(©) 1

(B) 2
(D) 8
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50 wemaT F 3ftwa 38 ® | Al @1 wemsd w

45 31 55 #1 B2 f21 57u, @ 9 e @ sfug
foan &m 7

(A) 36 (B) 35

(C) 32.5 (D) 37.5

P,Q,R, S3TuRufRAARBE I Q PITH
g i oA Fadad R, o m FA F o
farw mu e 1 3fv 11 3 @ Frerfafaa § @ FE- g
i & 7

L P,Q¥adssHand? |

[I. Ramd 3id e |

(A) e 11 7T 8

(B) ¥Fae | 7A@ 2

(C) 2 1 3T 11 TF WY AT &

(D) I | & F1§ T

e S Y12 F @i AT 9

(B) TARTETA

(D) faferm . s

o ) T < = fafi frfeat aid i # | X 7

TR e F a3 f aen e g |
X7 £B7 LB '

YACCY

(B) B

(D) C

mgﬂé‘ﬁ?mﬁrgoﬁmqﬁmmﬂ
% 3K farforen & o 25 fire & v et €, |

Tt 15 e 3 a7gen wngan e @ 3fi 3T Fried

& fore fierer et ¥ foredt 372 35 e =1 o @men

2, I FrTeE TgE o for 3 fafen & R foad

(A) 7:40 AM (B) 7:45 AM
(C) 7:20 AM (D) 8:15 AM

U VIRt SEE 126800 ® | TeS 9 ' 15%
g Wt @ 3 ga ad 20% i it € el & 1 2

% o7d # wret Y saeE e 2l ?
(A) 174984 (B) 135996
(C) 145820 (D) 116656

T FE Ot Ferhl W F T R | 5 G FER
% 64 OIS T F Fer e § | T g g el
e T Tt T € 7
(A) 3
C) 1

(B) 2
(D) 8
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to
refers to Email that apri:;ﬂ‘l;?;] -
been originated from c:tm:1 s:l;ource.
'}:ax::s actually sent from anothe i
| i ofing
(A) Email bombing (B) Email s;';):; i
(@] Email spamming (D) Noneo
Who cancelled all mortgages of land ?
(A) Draco
(B) Solon
(C) Cleisthenes
(D) Pericles

Select the correct mirror image of th_e given
when the mirror is placed at line AB.

figure,
BENZENE
B
(A) ANIZNEE (B) @NaSVad
(C) INIISIL (D) BEVESVE

is a pen-based output device
that is attached to a computer for making
vector graphics, that is, images created by a
series of many straight lines.
(A) Scanner (B) Projector
(C) Printer (D) Plotter

Which number will come in the place of
question mark ?

0.863 x 0.637 + 0.863 x 0.363 =?

(a) 1 (B) 0.863

(C) 8.63 (D) 1.226

The ovule is a small structure attached to
the placenta by means of a stalk called

(A) Chalaza (B) Integument

(C) Kate (D) Funicle

Article 35A of the Indian Constitution .

recently seen in news is related to

(A) Jammu and Kashmir Legislature to define
permanent residents of the State

(B) Impeachment of President

(C) Special status to Hyderabad Karnataka

(D) None of the above

Whicl'_x number will come in the place of
question mark ?

7:343::5:9 Eﬂﬁgg
(4) 25 (B) 125 AL G
(C) 625 (D) 1025
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30 9 1 Fehla e & 9 v A @
S gan et B @, S ave # Rt a1 g
AdMT AR |

(A) et wifeam (B) $e wqfién

(©) =t i (D) i &

v Yy syt A fred @ R ?

(A) Tt 2]
(B) W& HERE
(C) iy

(D) ey

& 3 rFf 7 W 7w sfafm gfi, @ g B
W AB W@ T |

BENZENE

B
(A) avazrad (B) @VESVIL
(C) aaxEd (D) BEVIESVE

& 9 anutf Frfa Rege t s o=
F A A mifead S foh S Hiefl Tanedl A o
ST g T ¢ Wiafa 8, 1w & fog S
g |
(A) EHR (B) W&
(€) B (D) =X

v Fre & oy W s - g st ?
0.863 x 0.637 + 0.863 x 0.363 = ?

(a1 (B) 0.863
(C) 8.63 ! (D) 1.226

HST1e U BIdI HTEAT & S S3c1 & HIE9H § smeEa
g A @ .

(A) =TS (B) e

(C) Fe (D) "

YT Wfau™ &1 37=ee 35A 8 € |

gaET 3@ T e, e gelta g ?

(A) Ta o wrht farfmt =6t afonfia
F0 & forg s it it et

(B) Tregufa =1 waIfvRim

(C) RT=e Ftesh it ey gt

(D) IR A & s T

w97 Fe & v WS-t g it 7
7:343::8:7

(A) 25 (B) 125
o\ 625 (D) 1025
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70. The total number of members jn Constituent

Assembly who appended their signature t
the Constitution asg finally passed on 24'2
January 1950
(A) 389

(C) 243 e

(D) 284

71. Who among the followin

police hierarchy ?

(A) Inspector

(B) Sub-inspector

(C) Assistant Sub-inspector

(D) Deputy Superintendent of Police

72. Unemployment rate in India released
(A) Moody -
(B) Centre for Monitoring Indian Econo

(CMIE) i

(C) TradeX

(D) Employers Association

g ranks lower in the

73. What is the main objective of World Trade
Organization (WTQ) ?
(A) Liberalize International Trade
(B) Liberalize Domestic Trade
(C) Reduce Global Poverty
(D) None of the above

74, The Article of Indian Constitution which
says that India, that is Bharat, shall be a
Union of States’ is
(A) Article 4 (B) Article 2
(C) Article 3 (D) Article 1

75. How many odd days are there in 123 days ?

(A) Two (B) Three
(C) Four (D) Five
76. The Indian Evidence Act was enacted in
(A) 1870 (B) 1871
(C) 1873 (D) 1872 ‘
| e
77. The owner of an electronics shop &,’}“am
charges his customer 22% more AtAE
than the cost price. If a customer
paid Rs. 10,980 for a DVD player,
then what was the cost price of the
DVD player ?
(A) Rs. 8,800 (B) Rs. 8,000
(C) Rs. 9,500 (D) Rs. 9,000
78. Twisted aestivation is seen in which plants ?
(A) Mustard (B) Annona
(D) Cotton

(C) Cassia

\ Download from www.MsEducationTv.com

70.

7T1.

73,

73.

74.

75.

76.

77.

78.

CMES - S2
e g o et 0 Fa g e of e
04 SHAT 1950 F aifow w9 & wifta wfEum #
17y wamer & ? |
(A) 389 (B) 299
(C) 243 (D) 284
ﬁqqawﬁﬁmﬁ%aﬁﬁaﬁqﬁw%?
(A) Fiiee
(B) ufAiier®
(C) eI JFHIeTh
(D) Iaefiereh gferd |
Wi A AT R g S S R |i
(A) =& |

(B) Witehta srefegaren Firrt ¥ (.09.9mE 4.)

(D) T e

s e (e A3, A RE TR T
(A) FFaTEg SR &1 ISR ST

(B) T TR TR

(C) ke et T T

(D) 370 & & Fi§ TE

W SR 1 S -E ISE el ¢ 6 g
a7y, Wi Tl 1 69 B ?

(A) TR 4 (B) T 2
(C) =% 3 (D) 3IT=2 1
123 i & fopaa faam fea € 7

(A) & (B) =

(C) ¥ (D) 9=

wdg ey Aty i 1 sfufafia e
T T |

(A) 1870 (B) 1871

(C) 1873 (D) 1872

U JOIagITed A o H1feTh 1o Tedh d @ 5
[22% FREF T AR | AR S IREF S A D S

ez 10,980 7 yER A 2, AL A L. S A
ST e = o1 7

(A) %. 8,800 (B) %. 8,000
(C) %. 9,500 (D) %. 9,000
e Toremfamm R i & e s g 7
(A) wwEl (B) T
(C) Fferm (D) FAE
1
it
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83.

i f
Which number will come in the place 0
question mark ? ,
1 1 1 1 1 sl oo
4—’*5"1"6—%—‘1-5-3-- 3
3 3 3 3 %
(A) 14li (B) 135—l
19 3
= (D) 1=
(C) 13-13 =

The dimensions of the quantity

2 gy
Hole , is (where H, — permeability

namely

of free spacle, C - velocity of light, € -
electronic charge and f; = h , h being
Planck’s constant) 2n

(A) [MOLT| (B) MOLT]

(C) [M° Lo T (D) (M2 L' T3

Consider the following statements about
Vidyanjali Portal of Central Government.

I. Itisan initiative of the Ministry of Human
Resource Development, Department of
School Education and Literacy.

II. The portal will enable community /
volunteers to contribute by connecting
directly with the government and
government-aided schools of their
choice. O

(A) Only the statement I is correct é@@

(B) Only the statement II is correct '

(C) Both the statements I and II are correct

(D) None of the above

What is the rank of India in the World
Happiness Report 2021 released by United
Nation Sustainable Development Solutions
Network (UNSDSN) ?

(A) 132 (B) 139

(C) 108 (D) None of the above

Which is the right statement of “Natality” ?

(A) The number of births during a given
period in the population that are added
to the initial density.

(B) The number of deaths in the population
during a given period,

(C) The number of individuals of the same
species that have come into the habiat
from elsewhere during the time periud
under consideration,

(D) The number of individuals of the
population who left the habitat and
gone elsewhere during the time period
under consideration,

CMES - gz

7o, A e & T TR -H TG 3 o

80.

81.

82,

83.

3 3 3 3
14 19
14— B) 132
(A) 19 (B) =
18 8
C) 13— D) 17—
(C) 19 5

Ht};ez s s 0 R (S 1, — e
ﬁw.c—mmm,e-m%
afit h =2E~ , h @i 1 Frais)

s

(A) [M°LT] (B) [M°LoT)

(C) M LT (D) [M? LTy
3z, qer  faeristed! qide & w1 H P g
rdcerE gl

1. =g fenem e i earar fawm, g
A faea 1 fl T 9EE § |

11, 9 g /=gafadl & T 91w
HerEa W 10 vHE & et @ g

T FeFH ST |
(A) FadHH [ TAR
(B) %l %A 11 99 B
(C) = I 3R 11 <Fi aa B

(D) 39 | A F1§ &I

FATRE ATH TS SATIN AIegyH eah
(9.v7.v8. 9. w8, w. ) R S T g
2021 T YA T H T8 7

(A) 1323 (B) 1394

(C) 108 (D) I o A FE T

“SIGU o el FYA T E 7

(A) 3 T § SR e SeEn § A
a3 Rw s ) weE |

(B) ek 1 7§ arafes A e H gy A |

(C) fomm it s & arafy % dnm freht
Wmﬁwaﬁmwﬁq{m
T SRt 3 St o g |

(D) Forem =t =11 &t arafiy 3 e e ©H
BiEa FEl 3l s arey shat ) 764 |
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90.

A vertical demand curve is
(A) Perfectly elastic

(B) Perfectly inelastic

(C) Unitary elastic

(D) Unitary inelasticity

In the coagulation of positive sol, the
flocculating power is in the order

(A) [Fe(CN)y]* > PO > SO.*>CI-

(B) Cr>S0,* >PO 3- >[Fe(CN) ]+

(C) [Fe(CN),]*> CI-> SO PO

(D) CI> SO,* > [Fe(CN) |+ > PO

How many meters of cloth of 2.5 m wide will

be required to make a conical tent, whose
base radius is 7 m and height is 24 m ?

(A) 120 m (B) 180 m

(C) 220 m (D) 550 m

When did Sir Thomas Roe visited the court
of Jahangir ?

(A) 1608 (B) 1609

(C) 1618 (D) 1615

In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1. No lemon is orange

2. Some orange are apple
Conclusions :

I. No orange is lemon

II. Some lemon are apple

(A) Only conclusion II follow
(B) Only conclusion I follow
(C) Neither conclusion I nor II follows
(D) Both conclusion I and II follows

First phase of Green Revolution achieved
approximately in

(A) 1950-1960 ‘

(B) Mid. 1960-1970

(C) Mid. 1970-1980

(D) None of these
Vegetable waste and sewage are decomposed

in the absence of oxygen to give
(A) Bio-gas (B) CNG
(C) LPG (D) Coal

84.

86.

87.

88,

89.

90.
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U LA I T B

(A) ot 71

(B) T 1=

(C) Uferes =1

(D) UfeFeh e
RIS 50l % The H, TH Tt F
7 gt =R |

(A) [Fe(CN),]* > PO,* > SO,> > CI-

(B) CI'> SO, >PO,* >[Fe(CN),]*
(C) [Fe(CN),*> CI-> SO,* > PO,*>
(D) CI'> SO,* > [Fe(CN),]* > PO,*>
e YR e & o ferg 2,5 Hiet <01 fere et
02 A vl st fgenr smuw B 7 di
i 3 24 w7

(A) 120 Tt (B) 180 Hiet
(C) 220 HiX (D) 550 HeX
T 9TeE O TR 3 S d e 3 a1 ?

(A) 1608 (B) 1609

(C) 1618 (D) 1615
sa s, e e & s A 3 e fRgme § |
3 Pl f i en &9 & FETOH WAH HeA € |
U

1. 18 e o 7

2. @:;?ﬁﬁ?
fred @

1. IS waw =g e 8

1. TS g 4

(A) et e 11 ST Fta 8

(B) et foeamd | 7@ e &

(C) 7t Fremd [ 7 & 11 Sreor &tan @

(D) 2t fesrd 19 11 Srgaw +d &
TR SHifel T T =0T ST e foRm T |
(A) 1950-1960

(B) 1960-1970 1 TeA

(C) 1970-1980 T HeY

(D) $H & FIs TE

aerfa TafiTe SR wereTe o sifafie ot srgufeuta
W 37T IR

(A) FI-Tig (B) Ht.uA.si.

(C) wm.bt S, (D) @R
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In the following question a scﬁnlc-‘r:‘;c S:::
been given in Di:'a:ct/ln{{lrr:ct‘ bF?CL thc v
of the four given alternatives select e
which best expresses the same senlenc
Indirect/Direct speech.
“Where do you live ?", said the school
master. ‘
(A) The school master enquired where |
lived.
(B) The school master enquires where I
lived.
(C) The school master enquired where |
had been living.
(D) The school master enquires where |
have been living.

Fill in the blank with appropriate adjective
from the alternatives given below them :

This is the

news.
(A) later (B) latter
(C) latest (D) last

Thefollowingscnlcncccontainsgrammatically
error or idiomatic error in it. You have to find
out that part of the sentence and choose the
alphabet of that part as your answer.

After having written the letter, 1 began
to look for an envelope,

(A) After having written

(B) the letter, 1 began

(€) to look for

(D) an envelope.

Choose the right antonym of the word given
in capital letter from the alternatives given
below it.
DEFIANCE
(A) Praise

(B) Obedience
(C) Extravagance

(D) Advanced

In this question, there ar
following a word or
term. One of the a]
the meaning of that
correct alternative.

ANIMADVERT
(A) Need
(C) Criticise

e four alternatives
phrase given as the key
ternatives best explains
word or phrase, spot the

(B) Hospitalige
(D) Notify

96.

97
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100.
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Fe e
Wmﬁﬂ’f"ﬁﬂfﬁmwﬂmamm
T Fummemd
(A) Forgrqu
(B) W&
(C) Hmad
(D) 378 q 918 5
HA + 3 = wyrd, Y R |
(A) <
(B) &1
(C) form
(D) ¥4 & wré et T
borgrr W
T’ T2 F He wef 2 @R
(A) femm
(B) BTeid
(€) 4
(D) T & Fré 7

‘et o () MU A e R
(A) 38T

(B) WumE

(C) fafy

(D) 78 & ré 7l

e’ OF qrEH YR R, W AR
TR R

(A) wef

(B) i

(C) =§i

(D) 5 & =rd 7

—_
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